20254 R AU ER AR FH AS TR R BB 2[RI H 77— 7 /L7 L ERR

[(#2R] A=1BH

R ERMBERL S BRIk
R =7 FWw =7
@9 : 00~ 314 : 00~ @9 : 00~ 314 : 00~
FAER A — 4 R MN%y =7 e D HEAES =T
@11 : 30~ @11 : 30~
NI MRIE B35 IS ERT 7 K
Aas =7 Fay =7
D9 : 00~ (314 : 00~ D9 : 00~ 314 : 00~
HEBES =T IS o Dby HWA— A R EHA— A R
@11 : 30~ @11 : 30~
HEAIS 481 SR NPT RIS SIS RWEDIS WSS T R
A tRE BAIEA FIR R GRS R Fie i
(50 10 21 3 1 1 0 2 7
oA % FHME | HEAR | EXEm | NzsE | o2 g I
GEED 4 12 1 1 1 5 1 6
3sa % EREE R i % 5H FES 52 it
(R 0 2 17 4 8 3 9 10
70w o )Bf
(5L BRI A E IS EMETE RS T R
1 BAES HERTE R 2B W
21 R IR PSS i
34 0% R BE #2m




(2] AS2HE

FTEIM Ty Y

T Ty Y

FEIML Ty Y

(8K AR BBk 15 ) SE e ] [athES 5]
13:30 13 : 30~ 13: 30~
8 10 30~ 8: 00~ 10 : 30~ 8 : 00~ 10 30~
= g t ] R e s &0 5 0 8
= il | 4 =2} E] it % 2B % |
5 # & B =
53] = i i 22|
13 : 30~ 131 30- 13 : 30~
| I
JARTRE Ef R EE,
[4xEQIDERES2RG] [B%2 5G]
EERaae 524 8 TSP BRI S EEERIS AR S
1 we2HE | 2nEs B8R TEaE]s SRR %
BR) 2 1 5 6 6 8
oA HEBRAFE Y Fae IES b A5 FAED
(E8) 4 5 11 2 7
CEREE) A I IR R SRl i
IEAERE %
(52) 3 8 7 8 14 10
HIAG EEARE | REWE 778 yIE T W% BES
SRy
(%) 3 0 0 12 6 8
ARHE
ol HEAFEY fL =7
A s ZEY hL =T

3L

HYH— A X




